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SA-EH O (BH) - HBAY - B2 gggf; HRS2
sS== 251,146 226,342 24,804
sEss2g 185,261 172,971 12,290
sSE= A& H| 185,261 172,971 12,290
A2 FO=JAAY 50,000 50,000 0
401 A& HI L 21| 50,000 50,000 0
01 Al&H| 50,000 50,000 0
OALARFU=JAAY 50,000
SHs FAt2e 72,862 60,562 12,300
101 @121 4| 5,422 5,422 0
4 IItHZ22XNSE+ 5,422 5,422 0
OFEzdH stH 3| 60,5403 x5 *4 . 4km 1,332
OF=&g o182 60,5403 3% *9 . 3km 1,690
OM)=BE ZEAFA SH2L
200,000& x12& 2,400
201 L Et2HH| 50,240 47,940 2,300
01 AR 22/l 40,240 39,240 1,000
Odet=2H| 12,000
OFoXNXNAHAHESH 24,000
o= AX= 1,000
OXXAIEEY2A 3,240
02 =24l 10,000 8,700 1,300
O3322 2 HA 6,200
OAZH| 3,300
OAlI & &H| = Xl dl 500
206 i =t 1,000 1,000 0
01 X &4l 1,000 1,000 0
OFtzH SHEJH Y Hxz& 1,000
307 2I12+01 A 1,200 1,200 0
05 DIZtREZ 1,200 1,200 0
OF AR EH| 100,000& 12& 1,200
401 AlEHI L 21| 15,000 5,000 10,000
01 Al&H| 15,000 5,000 10,000
OFAMNEZM 2L M| SABA 15,000
AsdEHiied 5,939 5,949 A10
301 LEtEAZ 5,939 5,949 A10
04 XisSUEHHISHY] 5,939 5,949 A 10
OO0kAH| 2,500& »2H *365 1,825
ogdxte 2494l 3,000
(@rSPIE= 6,000 *12& 72
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PH S5
M SEE2Y
ool SES AFYEH (&te @2
) _ _ bolEN= -
2N -3 - c2(3H) - NEME - HES 0] At oH @E% Hl =2
Od¢zH| 1,305 *22] E{ *150L 392
OFAZEIKXIH 150, 00024 * 100 A 150
oxXsgdy 29| 500,00024 %190 & 500
SoIpA2H 45,640 45,640 0
301 LB A2 45,640 45,640 0
055 -2 BEESEA3 45,640 45,640 0
Osa2AZ JI24Y 200,000 13 « 122 31,200
oan=a 200,000 * 13 x200% 5,200
O3|ol & ad gt 20,0002 * 13 * 128 »23] 6,240
@]=IPSIPAS= 25,0002 *60H «23] 3,000
AFE HAKE 10,820 10,820 0
201 L B2 AH| 3,500 3,500 0
03 #HAI2ZH] 3,500 3,500 0
OAMBIMSUE L AEEHA 3,500
301 LB A2 7,320 7,320 0
10 HALAHI B A2 7,320 7,320 0
OAMBIMSHE L LESHA 3,500
OLCIHOIEEUS 25,0002 *20H 500
OZSHMIBH A 20,000 x50 1,000
O1AHEE# A} 1,000
OEEMSUS 40,0002 13 520
OJ|EFEH A} 20,0002 *40H 800
LY 2HIH(SES) 65,885 53,371 12,514
E5S 29| 25,175 20,361 4,814
EE5S A2 25,175 20,361 4,814
101 @124 4| 25,175 20,361 4,814
03 I HA22XE 2 25,175 20,361 4,814
O A22I(1H) 23,955
=3 902,880 * 122 10,835
A3 10,834,560 /128 *43| 3,612
WEEXH 120,000 » 122 1,440
X o4 Z Al 130,000 * 122 1,560
HE222E 563521 .50 «15A1 2F+12& 1,522
HWESIHH| (&, F=4) 902,880 *120% 1,084
= 5,0002 16 x 122 960
HItE A2 45,0802 20 902
B (R, 822, XH3) 2,040
O A2 L3l AzZ2(20118) 1,220
E=S )24 40,710 33,010 7,700
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